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Question paper consists of two sections (Section A and Section B). Both the sections are compulsory.
Answers to both sections will be marked only on the OMR Sheet which will be issued by Exam Centre.
Candidates will not use question paper to answer the questions. Candidate has to score min. of
32 marks each in section A and B separately and a min of 80 marks in total to qualify in the exam.
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Use only blue/black ball point pen to mark your answer on OMR Sheet. Use of pencil is strictly prohibited.

o7 TH SR e W FE off T Fem T o fe see! veeE 8 gwdl © | O 9 SR W SIS e St

e s&/Do not write any revealing identification in the OMR Sheet. Such candidates will be DISQUALIFIED.
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please return the question booklet along with the OMR sheet to the Invigilator:
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question paper and OMR Sheet. 5

Instructions for Invigilation Board :
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12.

Invigilation board will ensure that all candidates comply with the above instructions.
Invigilation board will explain the method and Do’s and Don'ts regarding filling up of OMR Sheet.

On completion of examination the invigilation board will go through the work script and cross out with
Green ink any part of answer sheet left blank by the candidates. The answer sheets will be packed after
ensuring the action.

Presiding Officer will announce the set number of the question paper administered after distributing the
question paper and will ensure that all the candidates have got the required set number.

Invigilation Board will ensure that all candidates comply with the above instructions.
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“ Que - ‘&®’
Section — ‘A’
| {E UE 9y,
GENERAL KNOWLEDGE AND GENERAL SCIENCE
T faee < ‘ (10 x 4 = 40 i/ Marks)

Choose the correct answer:

3 2011ﬁm%mﬁqnﬁvﬂqéw n@ﬁmﬁm@mmw%?

In which of the following States, is Child Sex R io as per the provisional resuits of the 2011 Census, the

lowest ?
(a) Ysms/Punjab " (b) efmon/Haryana
(c) feew/Bihar (d) ST wex/Uttar Pradesh

‘Bulls and Bears’ is a term used in : // P[
(a) diei =i wrgr #/Bull fight i (b) T H/PeNtics
. (¢) =% T A/Stock Exchange @ ¥ ¥ =i TEi/None of these
B i S A S A 2 :
Besides Delhi, Akshardham Ter;a/ple is situated in the state o :
(a) werTz/Maharashtra !
(c) Tfm@m/Haryana
4, s 3 R e F T A A 2 ‘
‘ Which Religion was started by the great Akbar ?
B (@) wfeem/Muslim
(©) @r-u-veréiDeen/E-llahi
5, g T R R W A € 2
Which riveris called“Salt River ?
_ (a) TEEA/The Godavari
(c) F9N/The Krishna
6.‘1&{63{3131%9#%%3@1@%% ?
Dispur City is Jocated on the bank o
. () S&g/The Brahmaputra :
() TM/The Ganga
7. &R 3 A R
Arthritis is the disease o}
() G}‘@Wﬁsﬂllnﬂammati n
© ﬁaﬂLiver
8. W’aﬁ ﬁ‘m TN
Ciryhosis of liveris gaused DY .......cccoeeveenes :

d) T & TEl/None of these

(b) s®/Buddhism
(d) gFUSufi

®) Ffﬁ/Thé Luni
\_ () = & =i FEl/Nong of these

ich river ?
(b) F=1/The Krisfina
(d) =¥=/The Nagmada

gé) FFF/Cocain \ (b) /Alcohol
/() weEEiiLSD d) Morphine
9. ﬁﬂawﬂwﬁwﬁﬁﬁuﬁv .................. % |
The largest gland/in the Human body iS ........c....-o/: = g 3
(@ df=rari/Parncrea / b) @iaase/ Thyroid
_ (o) FlLiver /,/ /(@ <rsiPituitary
N mw@m% 1 /
Scurvy is caused’due to dejficiency of vitamif ..........ooeevveee :
: @ A (b B
- .©C @ D

i g
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SUBJECT : MATHEMATICS AND COMPUTER SCIENCE

et famwea o : (15 x 4 = 60 3=/ Marks)

Choose the correct answer:

>11.ﬁ?§ﬂﬁaﬁf‘sﬁ€?ﬁﬁﬁwﬁ€square§ﬁ: ; ;

Find the biggest number comprising of four digits which is a perfect square :- - -

@ 9999 (b) 8880 y
(c) 9901 , (d) 4444 /

, : / .
12 T o1 TR AR i o e 9 S §, T T 7 R U e, TR 9 3 WA = e 4 WAl o
Rt SePR Sae ST 2 ,
The internal radius of a hemispherical bow! is 9 cm. This is filled with a liquid. This liqyid is to be filled in small
cylindrical bottles. Each having base diameter 3cmand r}éight 4 cm. How many s@

71Ies are needed ?
@@ 27 — ~ (b) /sﬁ L
(c) 63 (d)/ ¥ ¥+ TEl/None of these e :

13. B
Solve :

0.05 x .05 x .05 — 0.04 x .04 x .04
0.05 x .05 + .05 x .04 + 0.04 x .04

et () .05
(©) .04 " @ 2

14, Fird T TR H - TR T T 729 SR 901 F divide F remainder 9 FR 5 3 E :
Find the greatest number which will divide 729 and 901 leaving remainder 9 and 5 respectively :

@ 13 () 12
© 16 : @F s

15, Foror 1 TR S « o T T I AR 2 B R R

In any triangle if the value of one angle is equal to other two angles, then what is the name of this trianglé ?

@ Wﬁ‘gﬁ/Equila’{eraltriangle R f33s/Obtuse triangle
\ (¢) w=m fsi/Right angle triangle d) \z79 ¥ =i Te1/None of these

16. 9% SIS ¥ B HeF/FA-4! ¢ o Ak 438867 ST T A U /o He W 3 2
What is the least fumber which mlust be subtracted from 438867 to make it a perfect square ?

(@ 633

— . (b) 665
(¢) 623 |

d F== 3 Tﬁé TEi/None of these

17. ot fafiree ,,
Software designed for a specific purpose is called as ? /’

(a) Ty Fum/Application program
() TEel yromH/Assembly program

(d) %= @ %iE 7E/None of these



:.,‘ 18 Wﬁmﬁw ....................
I the Mail MErge OPHON, USE ........covrisssssseeeeees

I

- .
(@) = T T T & T&di/cannot creat new data source : &
(o) A HHA $ o1 g TEH fore 1 ST F A $/can create a new or use an existing address list
- (¢) ¥ fer@ wfi/All of the above , a8 :
(d) Swg=a & & %% TEi/None of the above
'19.ﬁﬁ'ﬁ/mﬁ$ﬁ#ﬁ?mm?ﬁ% P e :
Which of the following is not an application protgCol inTCP/iPsuit? -, . =

o/

(@ T A TP
(c) & T T W/SNMP

() W@‘a‘ﬁ/SMTP
Ad) TH 3R & W/MRTP

ZOGéWﬁﬁmq—{mm .................... m%l

Storing same data in many places j§ called ............c........ : [

(a) werw Iteration , , (o) TsTeEi/Redundancy
(c) T3AwH/Enumeration ' @ T ¥ = ilNope of these

2

2. %Sﬁwﬁg&waﬁﬁw 22
_ What is responsible for starting up OS ?
/

(@) @ sEE/ROM qué (b) A< ¥ ¥wE/Boot Strap program
(© ag@aa/soots@étor , (@) '@ S§f/All of these

0 P § @ EN T i T fomed W € 2
= Which one is not ;(n impact printers ?

\ (a) ﬁiﬁﬁ?{ll{z’éser printer ' (b) =re Afg=m/Dot matrix /

(© ‘é’?ﬁ%ﬁ?}/Daisywheel - : @ =A(D)A (c)leither (b) or (c)

23, o 7 Gyt A w4 QA P [
In MS Exgel presssing Ctrl + A does the folloy4ng : :
/ 2 :

(@ 1?7«‘5\ feofre =% g/Deletes the cell
(b) T T Tl HeAE HL #/Selects the entire work sheet
() A 3 = feefie Fw ¢/Delete tire row
(d)/ sTd=a & @ i TEi/None of the abpv

24, ek e forrt govie % HE A S
T/ue first network that planted the se

La{ mqﬁE/ARPANE'r :
/ © =t 92/V Net ! s

/ i i
7 %5. Etes ma%wwwaﬁwwﬁﬁ@ﬁxﬁam%ﬁmmmg@m%uﬁam%mm
[ % s iz #, e i SR A E
A set of inter-related jcomp ents that collect, proc’éss, store and distribute information to support decision
making and control 1@ an grganization best defin_e's ..................... :

of rintern‘et was : /
(b) /T TH F2INFS Net
(@ 7% F/1 Net

(@ =1 g/ Communicat n technology ;(b)"qaa‘ =1 3/ Information system .
(c) =Esa¥/Hardware /@ FHE =1¢ 7E/None of these

N
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SECTION “B"—ENGLISH : S

Each question carries : 04 marks : Max. Marks : 100-

Questions 1to 10 :

Read the passage carefully and choose the best answer to gach question out of the four alternatives :

: - PASSAGE-1

* It is undesirable that some useful analogies can Pe drawn between the relation system of computer
mechanism and the relation systems of brain mechanisr. The comparison doegnét d¢pend upon any close
resemblance between the actual mechanical links whicl occur in brains and compNters/can both be originalise >
'S0 as to solve problems: The made of communication is very similar in both cases, So"much so that computers /-
can now be designed to generate artificial human spegch and even, by accident, to produce sequences of words/"
which human beings recognize as poetry. The implication is not that machines are radually human forms, byi ,
there is no sharp break of continuity between what'is human and what is mechanij€al. o

/

1. The similarity between the human brain and the computer would be gateg rized as :

(A)  Structural (B) Intellectu *(Q)‘ Functiopal ©O) Imaginary .

/

4 Computers are able to perform many furictions similarto those performed by the human brain only’bedause :

(A) The brain of modern man is shpunk in size. 5 =
(B) The sophisticated computer méchanisms have outdone humap mental faculties.
(C) The process of programming/and communication aresimilarin both cases.

©O) Modern man is more mecha__, ical than human.

3. The prime objective of the autho‘? hereisto:

(A) Decide the decadence of men’s.intellectual aspirations. /

(B) Exhort scientists to introduce the mechanics of the luman brain in the computer.
(C) Highlight points of dissimilarity between the hurhan bYain and the computer, -~ -
(O) Draw parallel between'the working of the human brain and the computer. -

4. The human brain is not di§$imilarto the compu

=
(A) Its faculty to compdse poetry spontaneous
(B) Its structure. = o
(€) Its methods of communications.

D) lIts capacity to gq”nerate natural $peech.

5. The author states thaf computers are f:apable of producing sequence of words which can be recognized as -
poetry. He thereby implies that : | . = = 2

| 5 =

true poetry. ; =
omputerpoetry is striking. :
a thorough change in modern times.

llenge to the human brain. z

(A) This cannot rgally be given the/status
B) The simiIaritXr between true poetry and ¢
©) The concepf of true poetry has ergo
O) Pr_ogramm/éd computers throw down a ¢

/ PASSAGE-2

The habit %reading is one of the greatgst resources of mankind and we enjoy reading books that
belong to us much jmore than if they are borrowed. A borrowed’ book is like a guest in the house, it must be
treated with punctiliousness, with a certain considerate formali y. You must see that it sustains no damage; it
must not suffer while under one roof. You cannot mark it, you'cannot turn down the pages, you cannot use it
familiarly and then some day though it is seldom done, you oyght to return it. But your books belong to you; you
treat them with that affectionate intimacy that annihilates f rmality. Books are for use not for show, you should
‘Place on the table, wide open and face down. A good




A) 1t should be treateq formaHy
)= tsuffe(s when with you

£ Punctiliouéness means - :
A) Considerate B Willingness © "Unwanteq -
8. We treat our books - =

(A) Qarélessly

7
C ‘Ina manner not to pe t(Js’ed / <@ With fear Tk them
9. Annihilates\means : £ : - .
A)  Hills which ants construc;(: < B)  Holes hich white ants mak
Remove or destroy c‘ompletely D). Smai ounded perforate

A) . Th\ey are easy to re;ﬁember and look back hen reaq again.. -~

© . You can blage atrail, ;
It shows that you'have reaq them.

=

Questions 11to0 13:

:/l : = \
Fillin the blanks using the correct Prepositior{:\J

- ¥
: ikes that.
ke _

‘ 11.- Don't be surprigéd

A at © with
2. 1tis superior/, .

)  than © about
13. lam B i Si

®) on = © d<5Wﬂ

®) and white R like lotus
@ PrQs © sreq

15. fis i R S interesting ang c_t,rérming.
P) human Jife Q@ thatgloriﬁ;,‘g : R and make it -

(A RPsq B) Qsrp © saPr: -

It cannot pe damageq :
Itis not familiar with yoy .

D) Afigitive 1o duties

(B) With fa u’ar}'&t atremoves

)
©)

©®)
m

%
9/on books

d arficle

Tose petals

RPQs

a healthy change

Do~



16. She asked ..2........... but she later refused.. e
(P). theamount ° (Q thedefendant (R) paid by her (S) to refund :
A) \QSPR : B) QSRP (C) PQRS ‘ ©O) SRPQ
Questions 17to 19: \
“Indicate the error in each of the following sentences :
17. (A) A few students . - ®) from our class : ‘ @

(C). have decided on to help / . [©O) pgor students in our class

®)

that Mihir expect ¥/~
once in a week

18. (A) Jayanttold me ,
- (C) every friend to meet him =

3

{9 (A) Ifoundit - 3
(C) the chewing gum that

difficult to remove
stuck with my cap

' Questions 20t0 22 :

Choose the correct group of words/phras ‘from the choices givept and fill in the bignks to make
meaningful sentences : E '

20. | hope She: i ...

(A) Must come ®) shouldcome - (©) O) shallicome :

21. Every one mustdowhat ........... S :

~ 7o 5
(A) they think best (B) he thinks best" (C) - one thinks best (D)

/ ,
S gt = to do this/ (\/

(A) * did not use (B)"’ used not ) not used

Questions 23to0 25 : /

every one thinks best |
wouldn’t use

Pick-up the synonyms an(’,/;ntonyms :

23. Antonym of Emerge/s :
(A) outcome % (B) disappear none of these

* . 24, Antonym of Curt/y";is:

N f v
(A) aggravate ® (©) incite O) help
25. Synonym of Goncede is :
(A) dema B)

(D) admit




